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TEST 1
1) Clear your desk top of all handwritten papers and personal notes. You may keep only your textbook, the test paper, and a pencil.
2) Read through the test completely and work the problems you can, leaving the difficult ones untill last.
3) Keep your eyes on your own paper.  Cheating will not be tolerated!
4) Work problems on the back of the previous page if necessary.

5)  Show your work!
NAME: ______________________________________________________________________

Question 1 
Are the instructions below being correctly or incorrectly used? If they are being incorrectly used, write on the side the equivalent (correct) instruction (or group of instructions) that perform the intended operation.

a) MOV     DS, DATA_SEG 


□ Correct

□ Incorrect
 
Correct use is:
b) PUSH    AL 


□ Correct

□ Incorrect
 
Correct use is:
c) MOV     Var1, FFH

; Var1 was defined using     Var1 DB ?

□ Correct

□ Incorrect
 
Correct use is:
d) MOV     CX, 00H

□ Correct

□ Incorrect
 
Correct use is:
e) CMP     BX, CL


□ Correct

□ Incorrect
 
Correct use is:
f)
CODE_SEG SEGMENT PARA 'CODE' PUBLIC USE16

 ...


 ...

ENDS

□ Correct

□ Incorrect
 
Correct use is:
g) INPUTS  MACRO STR

        LEA

DX, OFFSET STR

        MOV

AH, 0AH

        INT

21H

        ENDM

□ Correct

□ Incorrect
 
Correct use is:
Question 2
Develop a macro ADDLIST PARA1,PARA2 that adds the contents of PARA1 to PARA2. Each of these parameters represents an area of memory. The number of bytes to be added is indicated by register CX, before the macro is invoked.

Example:
If  CX contains 3, List1[0] = 10,  List1[1] = 10, List1[2] = 10 and List2[0] = 20, List2[1] = 20, List2[2] = 20, and the macro is invoked, then, after executing


ADDLIST   List1, List2 


List1 would be unaltered, and List2[0] = 30, List2[1] = 30, List2[2] = 30.

Question 3 
Given the initial condition of the 80386 processor registers defined in hexadecimal as follows:

EAX=12345678
ESI=56789ABC
CS=A000
EIP=00000100

EBX=23456789
EDI=0000ABAC
DS=B001

FLAGS:

ECX=00000003
EBP=789ABCDE  
ES=C000


TF,DF,IF,PF,CF SET

EDX=456789AB
ESP=89ACDEF0
SS=D002


OF,SF,AF,ZF CLEAR
Also, given that the content of each byte in memory has been initialized to the low byte of its address.  Assuming that each of the instructions below begin with the specified register and memory state above, indicate the contents of all affected registers and memory locations following the completion of each instruction below.  You need not give the status of the flags unless specifically requested.  The number in parentheses, "( )", indicate the number of bytes in the instruction.  Assume that the code was assembled with a USE16 directive.
a)
NEG  [BP][SI-2] 
(3)  


GIVE FLAGS  SF, ZF, PF, and CF

b)      
LES DI, [BX]

(2)

c)
RCL  BYTE PTR [DI-2][BX],CL
 (4)  
GIVE FLAG  CF

d)
IRET 


(2)

e)
REPNE CMPSB 
(3)  


GIVE FINAL FLAG ZF
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